Possible Solutions
Always start at the origin. Move to the right before you move up. If one of the numbers in the
ordered pair (x, y) is 0, don't move any in that direction.

y
A
9 (75.83)
8 [ NN N NN RN S SN S R - _T . ) 2
7 I
: Start at the origin (O). Move to the right
6 1 along the x - axis halfway between 7
5 : and 8. From there, move up to halfway
4 I between 8 and 9 to place the point.
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7 Start at the origin (O). Move to the right
6 along the x - axis halfway between 3
5 and 4. Place the point right there.
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5 ® Start at the origin (0). Move straight up
4 along the y- axis to 5. Place the point
right there.
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6 = ———————— Start at the origin (O). Move to the
5 : right along the x - axis to 5. From
4 | there, move up 6 units and place
3 : the point there.
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